
OSP-1078- OXY4 AL Tail Servo Mount-red

2x M2x6 Hex Cap Screw
add loctite 243

4 x M2x5 Hex Cap Screw
add loctite 243

4 x M2x8 Self Tapping Screw

mini Servo

micro Servo

Al Tail Servo Mount

2x M2x6 Hex Cap Screw
add loctite 243

2x M2 Washer2x M2x5 Hex Cap Screw
add loctite 243


	Sheet1
	Drawing View1
	Drawing View2


